	
a)  3 ∙ 4 =
      5 ∙ 6 =
      5 ∙ 7 =
      4 ∙ 8 =
      9 ∙ 6 =
      4 ∙ 5 =
	
b) 4 ∙   70 =                   c) 500 ∙ 7 =
     7 ∙   40 =                       3 ∙ 800 =
     9 ∙   90 =                       7 ∙ 2000 =
     6 ∙   70 =                       6 ∙ 40 =
     7 ∙   60 =                       8 ∙ 300 =
     2 ∙ 800 =                       50 ∙ 8 = 
	
d) 3 ∙ (20 + 10) =
     6 ∙ (32 – 12) =
     7 ∙ (140 + 60) =
     5 ∙ (310 – 220) =
     (750 – 670) ∙ 4 =
     (25 + 25) ∙ 8 =

	
e) 24 : 8 =
     36 : 9 =
     48 : 8 =
     24 : 6 =
     72 : 8 =
     42 : 6 =
     14 : 2 =
	
f) 120 : 40 =                 g) 1600 : 4 =
    120 :   4 =                      8100 : 9 =
    180 : 90 =                      6300 : 7 =
    180 :   9 =                      4200 : 7 =
    420 : 60 =                      4900 : 7 =
    420 :   6 =                      5600 : 7 =
    320 : 80 =                      5600 : 8 =
	
h) (180 + 220) : 5 =
     (410 –   90) : 4 =
     (700 – 420) : 3 =
     (440 – 160) : 7 = 
     (640 – 240) : 6 =
     (720 – 180) : 9 =
      (630 –   70) : 7 =


  
